T
BRI = T | v o ii +7 | +x
Bk
1 [E#%F (1) & 2 2 1 1 1
AREE T 2 2 1 1 ]
TEET A 3 3 2 1 1
4 |Bemsafplg 5 5 4 3 2
5 |R#sNMLE® 1 1 ] 1 1
6 |#esanmifd@ 4 1 1 ] 1
7 |gsE L 4 3 3 9 1
8 |iekmms 3 2 2 2 1
) |[R#Arm 3 3 ] 1 ]
10 |[E#amd 3 3 1 1 1
11 |#re@Fs 2 2 1 1 1
12 |#47 s mmg 2 2 1 ] 1
13 |#we@mlts 2 9 1 ] 1
14 |#irspim 2 2 1 1 ]
15 |65 emE 9 2 1 ] 1
16 |E@aLgy (AE%g) 2 2 1 1 1
17 |EmEgmts (bEads) 1 1 1 1 1
18 |[E#mnmE @ | ] 1 ] 1
19 |d#esm 2 2 1 1 1
20 |®wLaEFE 3 3 1 1 1
2| gt rhs (FoEnds) 9 9 2 ] ]




